
29. For purposes of the following request, please refer to the Company’s response to 
Staff POD No. 4. Please detail each of the calculations that yield the investments in 
Local IOT - Fiber and - Circuit. 

Response: The investment in local interoffice transport facilities per subscriber is = for 
fiber and for circuit. This identifies the investment needed by customers to be able to 
connect with their central office with other local central offices, in order to make local calls that 
reach beyond their own central office. The transport study that produces these investment values 
identifies interoffice fiber routes and optronics, and divides that investment by the traffic that 
flows over it, In context, this investment amount produces - worth of cost per month 
per subscriber 

30. For purposes of the following request, please refer to the Company’s response to 
POD No. 6 and “Inputs” cell E61. 

(a) Please explain how line 30 on POD No. 6 was derived, and what it represents. 

Response: Row 27 of POD No. 6 indicates that the line demand of this central office 
requires = STSX devices. Given that a DNUS can hold no more than twelve 
STSX devices, resulting in an average of DNUS 
units are needed to hold - STSXs. Because fractional units are impossible in this 
context, the answer is rounded up to 

STSX devices per DNUS unit, 

utilized STSX per DNUS unit. 

(b) Does line 38 on POD No. 6 represent the investment associated with one 
DNUS and 12 STSXs? 

Response: Yes. 

(c) If the response to (b) is negative, please explain what this value represents. 

Response: NA. 

(d) If the response to (b) is affirmative, please explain why this value is divided by 
line 30 and what it represents. 

Response: It is divided by in order to reflect the investment over the average 
number of STSX devices being utilized as described in Embarq’s response to 
Interrogatory No. (30)(a). STSX is treated as a spare that can restore service 
quickly to any of the average in use. 

(e) Unlike, e.g., "inputs" cells ES3-60 and 62, it does not appear that cell E61 
varies as a function of cell 16. Is this correct? 

Response: Yes. as reflected in the worksheet, “Inputs” cell E61 (the value of the switch 
interface) does not vary as a function of cell I6 (the number of custoqeq),.. . c+,, : t i  i.‘r -~ : (3!>‘[ 
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